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Name: ___________________             Class: ___________ 

 

Subtraction word problems:  
Read and solve the subtraction problem. 
 

Lucy had 10 building blocks. She lost 3 blocks. How many blocks 

does John have now? 

   10 - 3 = ____ 

 

There were 5 school buses in the parking lot. 2 buses left. How 

many school buses are there now? 

   5 - 2 = ____ 

 

John had 8 flowers in the garden. He picked 5 flowers. How 

many flowers are left in the garden? 

   8 - 5 = ____ 

 

Sarah had 4 ice cream cones. She ate 3 ice cream cones. How 

many ice cream cones does Sarah have left? 

   4 - 3 = ____ 
 


